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3-117 59 16 9
t=1.1m-t=1.0m
M= -1.416kN m(100%) |M= _ -922kN m( 65%) |M= —1,210kN m( 85%) [M= -1, 262kN m( 89%) |M= -1,262kN m( 89%)
N=_ 1,388KN_ (100%) |N= 1.241kN__( 90%) |N= 1,323kN_ ( 96%) |N=_1,233kN_( 89%) |N= 1,385kN _(100%)
M= -1,131KN m(100%) |M= -1,188KkN m(105%) |M= —1,149kN m(101%) [M= -1,011kN m( 89%) |M= -1,011kN m( 89%)
N=_ 1,576kN_ (102%) |N= 1.410kN_( 92%) [N= 1,500kN ( 97%) |N= 1,373kN_( 89%) |N= 1,543kN_ (100%)
M= —2,614kN m(100%) |M= -3,051kN m(117%) |M= -2,766kN m(106%) |M= —2,616kN m(100%) |M= -2,616kN m(100%)
N=___ 703kN_ (100%) |N= _ 831kN_ (118%) [N= _ 822kN_ (117%) |N= __ 703kN_ (100%) |N= __ 703kN_ (100%)
M= —1,675kN m(100%) |M= -1.952kN m(116%) |M= -1,772kN m(106%) M= —1.677kN m(100%) |M= -1,677kN m(100%)
N=___ 961kN_ (100%) |N= __ 948kN_( 99%) [N= _ 957kN_( 99%) |N= __ 962kN_ (100%) |N= __ 962kN_(100%)
t=1.10m t=1.10m t=1.10m t=1.10m _ t=1.00m _|t=1.10m
t=1.20m t=1.20m - t=1.30m t=1.20m - t=1.25m t=1.20m t=1.20m
t=1.30m t=1.30m__ t=1.45m__ |t=1.30m _ t=1.35m__|t=1.30m t=1.30m
-1
M= -1,448KkN m(102%) |M= -1, 109kN m(_78%)
N=_ 1,398kN_ (101%) |N= 1,365kN_ (_99%)
_ M= -1,171kN m(103%) |M= -1,026kN m( 90%)
t=1.30m - N=_ 1,557kN_ (101%) |N= 1,507kN_ (_98%)
t=1.25m M= -2,500kN m( 96%) |M= -2,909kN m(111%)
N=__ 703kN_ (100%) |N=__ 877kN_ (125%)
M= —1,546kN m( 92%) |M= -1,872kN m(112%)
N=___ 963kN_ (100%) |N= __ 938kN_( 98%)
t=1.10m t=1.10m _ t=1.00m
t=1.20m t=1.20m - t=1.10 1.70m
t=1.30m _ t=1.25m _ [t=1.30m _ t=L1.40m

(t=1.1m- t=1.0m)
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(t=1.30m- t=1.40m)




